.
\
» v TAIBAH UNIVERSITY C 2. basota § g, 3 - ; z o : T ¥ Bk .vu.

- —_—

O_&.%ﬁ;) O - The set of letters in the word MASTER is finite. Ihmﬁ-.%l\?\bu.\ , » Ae e &
Review QN Basic Gon R\&w & A True | Zpus At O
= Q\_I\n\.\ —,
Assessment i
Mathematics: Lesson01 M

{0} represents a null set. _— _L.Lz hn.ykthh Mﬁ‘m \M.Ph\.k: Ja? 10 ¢ of the set of multiples of 5. = \J\.\nk\_ﬁ\hxuh\_ k \0
>

A. True _.N%_h_m E\ PR

A False False

\3\\?&\?“\\\ uc\\n\rhwow\,mth &Wu\ §F§w@s%mn mm:ox&:.w-
B s, 2o wn £ ST [P &AL “
ey null ho.m.\\ QJ@Q ha\ﬂ?\.\ie.\\tv‘

{27 @



G

s Lo 23] wll!. B e —— i
s

The set of prime numbers is an e P .“M\k\;\_\_‘_\ ht“\fn\_ J th.-\%.. The set of negative integers is an ) #_\,\rn\u,\._ Mx.w.uw“

A. Finiteset 22245 a\_. A. Finite set = /v

B. Null set MM.\ 2,5,%,.. .L~ B. Null set v

A7 Infinite set &5 5 05 % A5 E & Infinite set M ey m2, V39000838, . - W.
. - - . . )
Ao D )y 02| 208 \bmu%t(

b pl)
... (LR 54352 &

A={3,5,09, 11} B=1{4,6,8,10} C=1{3,4,5,6,7} A=(3,5,9, 11} . B=1{4,6,8,10} C={3,4,5,6,7}
mEm:\mm.ﬁ A B and C, is this statement True or False? 10 € A Given sets A, B and C, is this statement True or False? Bz C
5 =
A. Tiue s A. True = ﬁnz\“.,lt\.\\bp.\lr— B ¥

- )
*Fﬂ » ] ] »
B. False Rl 5 ¢ Faise> X RV?A..E\v eNs 5 ps o) lem) 0202



Question 8 m

|

>ﬂﬁwhm‘©.HHw m"*h.mmu.n:

Gi = e C={3,4,5,6,7} i ine B’ nﬂ?\ ,

Hm,wmz sets A, B and C, is this statement True or False? (B U €)c{1,2,3,4,56,7,8,9, _“_mm ‘Em <o.=.., aummaa to determine ¢ .W .@
S True 58 s B ey & o [ el
\ N.ollow cn \a\s\\‘\ ,,.., u » /

B. False N i B B = Vst e s bz

WCDHMW\&.\“\Nm\Q\M . .\ h.
) 0/ 1, 8 %erw.m.sm.m;e @N\_\ov .m\r\n

Flo P 55 s, H i 31 A5 . e 10

C. B' = O. H. N_.w- y 1y Cr s
M—sp\W\ &\m\k\ww\ﬂ\\ukn : S
D. B'={1,3,5,7,8}

Question 10

Use the Venn diagram to determine 8 N C.

— -
wZnl i Bne o~
- 7,

T P iec
A BNC =1{4,6,7} \ e e 22~

B. BNC ={0,1,2,3,5}

n\\. BNnC ={}

D. mDn UAOsP-N-st-m~msﬂw

Page32
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Assessment

Mathematics: Lesson02

25 isa/an 25
81 =1

A. natural number . v\\\r.\bw. nsL.‘\.r_
B. integer .

C. irrational number

o& rational number

—3isa

A. natural number
OXK\\\
=k L
B. integer N..\M_\
C. irrational number a3 A
.U\Bﬂ._o:m_ number Ql..\.

e ———

\

SAP. J3isalan
A. rational number

B. integer

~-~—
(e realnmumber > (2el? 20%

. D. none of the above



Question 5

Evaluate: 4[3 + 7(92)]

& 2280

B. 15,888
C. 69,696

D. 17,424

Question 6

- =g

(2 a2s1) e pi

Evaluate: -— -3

A. 229
& 27
C. 235

D. 48

Question 7

240
8

o=

4
90)
)
@
U
[

T T T R T DR P ,
~\\
\Y) Evaluate: 6* Gﬂ\o\t .
Evaluate: _HAN+_ x 5) - w”_u \V _.VV . “
RV/ K 129 .
A. 1728 &\\
L B. 24
& 64
C. 216
c. 20 D. 7776
D. 84



Puestion 8

Question 9

o il

The exponent of 9(rt)* Xﬁ;\u\.n\-\w n\\\_& 5 Evaluate: (-5)° m..r_.
Eaess = chnd b -

A 9

A. =625 el

5,5 el

Hoy qvyr” & 625 ae” !
C. 5

C. -20
A D. 20

Question 10

-

L RN L DS SR ol S d i o s N AR T e, AL SR
. 2 ¢

Evaluate: (7.2) R_L\.\.V

A. 28 n;\

B. 81

S 196

D. 98

(-8) = M

n

A L

o wib—

aige P

Page35



/ Skl s e s L n s s e S TN sy - = i e e - ——— S— .

Cc.\\ﬁt N\n\
Select the equation that illustrates the inverse property. e-\\r.r\\\ rm-

\5+T 0) =0

B. 10 + 0 =10

C. 10x5=5x10

Assessment

Mathematics: Lesson03

A. 10 x (5 + 3) u._oxm+_oxu

SR S B u»..nv‘!:. nuhmidd te LR e S s v et e ..uﬁ,......_U.Ai;.&.ﬁ”.rﬁa«‘nnvuwgw.»ﬁﬂrﬂw.ﬂ SRR (e L ...Lflmiﬁ.w..c.uzr;tku,-l.l SEIR T - i ]
Select the equation that illustrates the commutative property. Select the equation that illustrates the identity property. _w N\\ gt rv.
& ———— i —— — -
A. 11x(5x8)=(11x5)x8 Atz ahladl  1oa ) A 3x7=7x3
) .
11x5=5x11 Ly B. 3+(7+4)=(3+7)+4
# Iwod pur -
B. 11x(5+8)=11x5+11x8 S C. 3+(-3)=0 3 BY)

C. 11+0=11 D. 3+0=3



it e e A A e _

select the correct property that describes the given equation.

15+40=15 . \
cssef o Bl 05
u.cuE_\\u\.uQ,

A. Associative property of multiplication
B. Identity property of addition

C. Inverse property of addition

D. Commutative property of addition

E. Distributive property of multiplication

F. Associative property of addition

i S g Sl 0 IO g 0t aw s S5 15 AR R P e B el T e L]
:Eiﬁlu‘«v..f.ifﬁ:& o L s i SRS et A i R et e ]

Select the correct property that describes the given equation.
9+7+6=9+6+7

A. Associative property of multiplication

B. Identity property of addition ;
C. Inverse property of addition

D. Commutative property of addition

E. Distributive property of multiplication

F. Associative property of addition

F. O &t st s 1]
e s

property that describes the given equation.

Select the correct
po+ﬁ+$uﬁo+~v+m

ultiplication

A. Associative property ofm <\ Sk ﬁ\ ﬂ\ L_\.\t\ P x

Identity property of addition n\)\ ) > —\»_
P\aﬂh A e \b_
pF ey N
’ .~ _
E. Distributive property of h.\.\\c N\\\\\_

\\ Associative property of addition | «\o “N )

C. Inverse property of addition

D. Commutative property of addition

multiplication

Distributive property of multiplication

(xy)z = x(yz) .
A. Associative property of multiplication

B. Identity property of addition

C. Inverse property of addition

D. Commutative property of addition

E. Distributive property of multiplication

F. Associative property of addition



s i A Bl JRATEL 12 X TS S A SR P AR, A o Tl i 5 syl
j121] + |-15] = [136]. |-8] +|-1] = 9]
_\.\.‘\#cm ! 'y 5! \.L\V A. True 4
P ) . - i
B. False hh \.\\ B. False =

=136

9x(5+7)=9x5+9x7

%Em

B. False

Page38



2

— ..I‘n.sar‘ﬁ]'halu.,\.:.u -
S SRR L

T

— e i
A oG o
(Epp oapr E2D b
B. 3x+5x14-3

3 e
\\.\%M&\\;\\\\W.&.\ru
C x2+2 f\\.:»mn

Which expression isget a polynomial?

A B-2x2+3x-2

Assessment

Mathematics: Lesson04

D. 5
\ .W \/UQ/US\S\: o,’ S

(@)
o™
(D)
(@))
)

al

SO T g AT A e R L M e e g e e O 1 R e N R S L R L e eaiisnr o i
What is the degree of this polynomial?

\ . - -
.(._ 2 :\\\.m, A 5l L The expression x*—+/2 is a polynomial.
4x5-5x4-3x2+2 - \n.\oﬂo\

el ip g

. A. True \ 2o uUmrb\\\
A 2 FW\W\LV AV 273) 8. False

8. 3 -
C. 4

il ? B



‘_

4 \\C.. — \d

e S P A i 5 b ol ARSI 7 . Fnao

1

W.\xuln.r.u o { b el 3 Frana

s e et -l i e s

simplify ANR.N/VMMW\HJ.
A. 16x%5
B. 10x3

\\ 16x8

D. 256x15

Question 6

AL

=(2.8)(x> x%) =16 x®

Evaluate [(—4)°)°

e b e R

“h\_”w

"l

Q)

mpau_m?cmﬁvm. -
A. x3y6

B. x%y

C. x10yll

‘A
Simplify (-3%)

A 36
& -3
c. 32

D. 3%



Factor completely: 5m? + 20m + 20 \\\P “.\A\NL\V\ nt'\v

&2 5(m+2)?
: ‘mA§+¢§.+:v — I

B. 5(m+2)(m-2)
Assessment

Mathematics: Lesson05

¢ sm-22 =5 T#wu.v — o s
Q\r\m\.\

D. 5(m*+4m+2)

2

w \g‘n\x.Q_\\\(\W \%\\XWQ&\N\&\L

age4l

B R R T R R S R R crdEotginied  BUTERR A R N e e SR e
The greatest common factor of 28r's?+ 7r’s — 35r%s3 is (x+6)2= Qﬁ.\“ Lra” 2 X ] £ ps JsF X n\..u\_\ _N\\
S, s Q\fL.~ t\...\v\”.%,\\r oot /V = qur_w.x..f 26
B. 2 : \ Y Iy S +12x+36

,.I\\\n\:.\n\\ ..\Lv& C 2-36
Pnc».rhc\\&nw&b _,su..u_&v \\.\\\«lﬂdu D x2-12x+36
ot S T P

‘i

C. rs

D. s



Question 4

Question 5

If 3xis a factor of 3x2 — 27x, what is the other factor?

A x-3
B. 2-9

\&\ x=9

D x+3

Question 6

Qx - 27x), Ity_\}u \ nwxvzm 33

Y _ple
Cét\aﬁ%&w\_‘ gt b
PRE LFEX

— 3X (% -9 )

= the &\rﬁkﬁm\ /s X-9

Which expression is equivalent to Sx{x + 1)-3(x+1)?

\K (x+1)(5x-3) N\E Vo_hm “T\ﬂk\h\_h‘* ﬂh\na

B. 5x-3(x+1)
C. 5x2-2x-3

D. (x+1)(5x+3)

«\AI\.N\LPLUHWL\

5X (X+1)-3 (X))
= (x+1)(5X=3)

N Q...hu\l

="

When x3— 16x is factored completely, ﬁ_,,dm answer is

A. (x—4)(x+4)
& A(x-4)(x+4)
C. xX(x-16)

D. x{x-4)

M\vr\v\i\\\,ﬁw&rq o
Qb\vA\TL\:inr

X216 x
~ X AXwV:C Il s

_ X—4) )
- X (X+4 vh kw.e\?w.t\.mm\

Factor completely 8x2 — 72
A. 8(x-3)(x-3)

B. 8(x-3)(x+3)

C. 8(x2-"9)

D. 8(x2+9)

—

T SLE R o

@) o~ el 2w

factor




Question 9

s

Factor 14x32 - 2xy

& 2xy(7y-1) 4\:
B. —2x)2(-7y) L, 1o
e
C. 2x(7y2- ) h \ \—V
D. 25?(7x-1) e ﬁ\w\ el

Question 10

. SRR R z R R R W L E S o
L) N J\l
Factor [2—-8L + 12 -t Mk\\\t\

% (L-6)(L+2)
B. (L+6){(L+2)
C. (L-6)(L-2)

D. (L+6)(L-2)

Which of the following is not a perfect square? s
A. 4m*-12m+9 We?ﬂ\& ﬂb\\c\\\.\. O\IS.\PM_
B. X+8x+16

C. 4x2-20x+25 -

D. 9x2+12x-4

E. All are perfect squares - nVu/.m\

Page43



Question 4

Simplify this rational expression to its lowest terms S pp 2l & NU& simplify this rational expression to its lowest terms

2 : A
1-w = \Nt t\\\hv)\r

w2 —1 nv.\.c.m\.v llok = — \OTVA:.ﬁA
A |?\+c\.\/|? = Sl = Iﬁa\\_ \Xw

wowe = = G A 3x(1-3x) 2
B. (w+1) h bﬁa v (W Bﬁ\ B. 3x(1-9x°) = 3 X A\\\WX v

et - -1 @r.ﬁ_ .._Vb.r. £ 3x(1 - 3x%)
p L w + ﬂrﬂ_@.\v&&“\r\c D. 9x3(1 —x)

Page44

k et i B s +5 It . n & % - 40
: o =l i i e S TR R TG W oo 5 |

| G AT S

e e e

Simplify this rational expression to its lowest terms

g . nv Simplify this rational expression to its lowest terms 2 .‘b r?.
¥2 — Q\_\ \r\t x?—-2x-15 /V‘&\U\ o

5x+6

x% + 3x - =
x O .\.\VCUV!. A\lV\anL.u\
Plal
s s RN 9 Yeve— (Gt s
X
C x-2 o 2=
D = :
T ox=2 D SRR
3x

A ————— s —
e e ——————




simplify this rational ex i
res
6x* — 15x3 4 1242 pression

3x3 t\

,llllllll
A. 6x -5
B. 2x — hul
i F s
ONE
D 2x—154+%
X

Question 10

g : %
B e e b s sttt

Simplify this rational expression to its lowest terms

25" — 12 a5 AvA\nﬂmmmw

x—6 — -
(X A6)

A 0

\NH

C. 4x

D 2x+2

-
—

- I o

s ol & dalvat e

Simplify this rational expression to its lowest terms

10 _ 10x7 3
NSmﬁHo — M\A\XMAPX iALN\
P

& 4x6 — 23 \“\X i

B 2x13 3

C. 2x10 — 243 = M %o AMXI—V

D. 4x® —10x7 é 2
=uxX - 2X

AR Ao n bl gz S &
8 D\v_\ﬁ\

—

Page45
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Question 4

Question 5
: i
i E, h.\b_.\ 10 Perform this operation and express the answer in the simplest form
Perform this operation and express the answer in the simplest form
. AW -1 34+2 y-1
-5 -% 2) L) 3 y+2 y-1 " o % 5D . L.V
= - |- = p— -4 r ...kb
x-9 x-9 J - ﬂimuﬁd ﬁ dy=5 9 _.c h—&lm Cﬂh—mﬁhv @—\% I N
g 5t *X-9 h DA .
x=9 2043 — » ’ Y
g 2 P T B T 39+2 b EAVR VY. B
B S = ISX+ wfp o et i = =+
o B AN—y D = b ‘\ ay+1 4V -5 4y -s
c. -5x = v E \ Ayn5
X+ 2y+1
D. % g D. 4y-5

Question 6

Perform this operation and express the answer in th

e simplest form
.Y u.l s5Y -4

49 B et\ve-é

1

39+2 4y

CY+2)(9-% A\..X.\uvnm..Fu

Y- 7
= y_ 1

wh+mlbn+uv

4ab

A.

4ab

4a-2b+6
4ab

2a-b+3

—_—

2ab

2a+3+h

_——

2ab

4a+6+2b
4ab

Perform this operation and express the answer in the simplest form

JeH %

»”



Question 9

e TR A WA q s =
S AR S b iy __..: Y w o 32 T ey WA [ g ) e 3710 .‘.,
F RS oA L R e i e Lo

Perform this operation and express the answer in the simplest form
2x? —48 _x+6 vmloqm, this operation and express the answer in the simplest form
x*-16 x+4 i k LCD b_\\v \M\—\c_ lobb 2x+ — \fh\.m\
L, B 2R Teoiedy, q.\ = Sed ==
- e ) (A-H)  (X*H)xls) ~ VLS \Ch\_.akc v 3 %wiv N
B. x*+2x-72 92 Xl_mn. A+ X~ 3x — X 2Y +| v ht\nb‘%
crxe = 2X-ag-[haxq \m g Lu_c Y ) ﬁu —
- x — 4 S .h .
N D e x
g B (X+4) (X-%) L ¢ 5
. —(RX 248 -R=2x+24) — S e
Xt )X -4) St LoD * g
=  xZ-2x-24 sepd KN
(X+4)(X-4) (X~-4) 2 ey = L& @ .@_W/me%.

Question 10

Al 3 A .m

.-.u... ..nm.)

Perform this operation and express the answer in the simplest form - ﬁ % Kwu A.X mu

A 4y
3(x+8) 3(x+8) = m Llh—.. I\—k\ N\K\\h*\vﬂ* h—lb

4 T2 (X+B (x4 &)
‘ﬁu+mv wﬁ b/\ ; N
# X —
2 FT g - —
B G+9) T X+ A4 &
12
c (x+8)
4




@ - E e s R

—Z- ,‘JF‘.Lr.l.nurlt.E.rl w

v._iﬂw.m,. vt \E\ﬁ:\r \\ ) \

56m2-56m -—

. gﬁ\\L 4m (m ~1) -
| .

56(m2-m)

14(m-1)
' sem(m=-1)

Assessment

iz c (7m=7)(Fm+7)
Mathematics: Lesson8 * (28m—28)(28m+28)

D 14m(m-1)

— . m . * s6m2(m-1)
(0 0]
<
()]
(@)
©
ol

£ By

X

14m—-14 sm2+48m J

7
Sem?-sem . 2m-2 v\\ Find this prodtict E=—S=8 5 __-7 - ﬁgu ﬁﬁ\.mu X F

N o " & , ..€+..." 5p2+15p A\V —V mWAnvL..wv
= _ i ) ) I \.
\ %\Wﬁi«%&: ,\Bs?c ?\%\\t% s p- 6

Find this product

B.
o::xa's " (P-10)(p-8) = ——
om?(m+6) ‘ = ; mwﬁ v&-wv
& m Cp-8)pEp+9)

m—6 - m -+ Y. 1
D. 9(m-8) 7 = — " Sp(p+3)

(B wh\‘.x\._&\&&% |£o



=

o
=3
7]

o i

=)
d

Question 4

Question 5

Find the product .%L(xim L L QV\-.Y..V\/.T Find this quotient —— + ——— Bl AA

4x2—32x 243 24x-64  24x-64
AL B | 2 n
0.7 - X =-l4X+4% x S X +15 X B, =
1x=s2x X +3 N
3L c =2
D. 6x? p, 22G=3)

x+8

Question 6

N

" a-10

L 3 N Nl .
Find this quotient Mawnwwn v mnNLHm = * Iy g i \A AL - m Find this quotient «»uSﬂIN + _.NMFwoo
a?+2a a?- ro rZ+3r—1
N _ _ 2a% 2 & ﬁmn\._m u
Bon s . " - A = |-
3 h\.\.s\ k— %’—-t\\“ i i 1
/7 et p, r=3)r+2) : V- _
3 ' T+9
N KN\N\NR\\VC (a+D(a-1) A
G — . T
a-7
i ,\N\\i af1) w\%m&\\wu . .,
D et \

2 o — |

=




x4
Rm.
e

OAp

Question 10

I
9 %

Question 9

4(c+2)(c+3)

—_—

3(c-3)(c+5)

4(c+2)(c+5)
3

4(c+2)(c+3)
3(c-3)

4(c+2)
3

"

Suets i g (C42) 45), 4 (4

Find this product

ﬂn\\u@hn. 5) 3(c+5)

¢ (c+2)

3(c+%

4x
\_. 3

4x?

B =

4x2

C

Find this quotient T

3(x+1)

D. 3

442

Simplify this complex fraction ==

A

B.

1

12

x

1z

12

i

ats

Pk oo 2R Vb

) vl P =
1 L], 2

A T

4(x+1)

2

4x  3x+3 4 X

x2-1

w—

- 4X

B m—

x—1

OX-1)

g4 X +2
TR

X

18

& 2
= g —_—

CX
\_ vA Im.\.n..

G,
34 &
et L

32X

-
-

Page50
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4 Ao SARIRI T S T SR el A — -
- @ dribdool? R S T I T
.\\tw.?:s.ﬁ: Eh.—h —— e T T oer A R

i D i AR R R D bk, RN kS
gt e B L e st e e 1S ST o L ey e i e

Assessment

Mathematics: Lesson09

vy 3 g bbb b

O R ST Rk o o TR St e S ER, e D o M B R R P i T e A T L L B e R e e T A :ﬂ“w
wﬂwﬁwﬁa% E I O A e O S A P S e N TP S K v TR e T e v A SO,

Lt a,

h_. Evaluate \J 1. ELQ\\AL“\W
4 m ha- \“ ’ 1 ~ 2 3
325 = T\.m.v =(2)= 53PN i B \I.lb u ~

P T R B s
”-. St AL i (e i i

Evaluate

o 25

C. 8

Npm —|XQ o0l -

i




4

i i R e R R S i) R o

Evaluate ’ ; R h\r\\s.\\ .‘L\_\V_
i %18 _
7 S

S Csp B PG Lo Jor A ad £t~z %
500 o ip 215y &P . db = & = & =a

C. 16

S
D. undefined ﬁv.n\ R“.\Q\\\\\vb\a?.\. \Lrbh\w C 8

5
mlwb M.nu Q?L QN:PNKI
e o

Q\au‘\.%m&\ numbatr”

(QV|
Lo
(D)
(@)
. ©
ey .f:.\:..m .‘..:f,,.; (o R 220, i S, -ty Ao N e 5 R # D8 .. e e I o s ol Jo T Lo e .... ,w..‘.. o el B S . \”.!. R P o R -+ il 0 sl S T e : JERES . ’ O 5

Simplify ) RWL..IW.I o \hﬂl ...N«I..l 4 Is the domain of 4
atxat = .I\I._\lu..Qh x5 X s Qﬂ.hh\bﬂ\
azxa”+ .Mll 2. ﬂ
“_ oz ot

A. a3 -az 5

-
e

A. {x]x=0}? 4

B. the set of all real numbers? NA

/
x a’ 3 \ neither A. nor B.? AX v
1 |

€& a* a3 = - - \.\\
e (o Jbisp e \\..\\i oL

§rxt X FO5  _PJh X

M\vb \ u\\-h




e

A-&.W - mu %Cw \

\ ‘
_1 L 3

B. —3 =~ (4% \_\mb..n.lmﬁ.

C. -8

0 -3

Question 10

R AL bt e ac sy A T B e A B T 3 s T e S T e A S e Ve i 5 = AT S
- 5
Which of these is correct: ?l\\ﬂ.“r\“u.\L E _.I.\|\\. V\ _.u\.& *Q I Simplify 2

!
A nuw o X Vf Hmkwlmhlmvu X > = NX xv
1 2
x2x

4 i I
vy —> oo Ly X
X

n

a A. xv—x2




perform the indicated operation ,\J

mn~2p~* fn2\ "z V32xtyz5
@p2)3 \m+/) +’ 151 %
Q A. 32sxiysz

° 8mn 151 lhwﬂ\xumb

2 -4 = B. 32s5xayszl0

Simplify and write in exponential form “

5

i - mn ‘0 ﬂ_\rc.ﬁ.& 2 2k - (22) mimvﬂsumﬁm s

8p10n3 D. NRmHmN m‘l.. %
<
. m?p Bl Y \.\ — M x Q m
8n* = § ; w s :\ -
- e
3P >
&
-1 22 =4




